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0525 = H 3 Alster 33 65
26 = H 2 Eibe 89 76
27 = H 3 Alster 4997
28 = H 6 Vulkan 60 88
31 = H 6 Vulkan 8601
32 = H 6 Vulkan 50 92
%3 =H 2 Elbe 87 33
36 = H 3 Alster 78 26
37 = H 3 Alster 4477
38 = H 3 Alster 92 08
39 = H 6 Vulkan 60 59
40 = H 3 Alster 30 30
42 = H 5 Merkur 96
43 = H 3 Alster 64 &
44 = H 3 Alster 87 74
45 = H 2 Elbe 56 25
46 = H 6 Vulkan 84 86
gg = H 4 Nordsee
= H 6 Vulkan 8 53
52 = H 6 Vulkan 5772
53 = H 3 Alster 7723
54 = H 2 Elbe 65 84
§5 = H 6 Vulkan 41
58 = H 6 Vulkan 19
60 = H 3 Alster 86 50
gz =M ulkan 46
4 = H 3 Alster 33 44
65 = H 3 Alster 88 45
66 = H 2 Elbe 86 06
67 = H 4 Nordsee 34 67
68 = H | Hansa 88 48
70 = H 6 Vulkan 66 40
73 = H 5 Merkur 573
75 = H 6 Vulkan 1195
;9 = H 2 Elbe 76
= H 2 Elbe 69
78 = H 6 Vulkan 70 58
80 = H 6 Vulkan 42 60
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gs = H 3 Alster 46 53
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97 = H 4 Nordsee 24 57
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= ster
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%3 = H 3 Alster 4729
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21 = H 3 Ailster 96 71
22 = H 4 Nordsee 16 72
25 = H 2 Elbe 26 85
26 = H 6 Vulkan 32 26
%; = H | Hansa 63 17
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30 = H 3 Alster 68 20
31 = H | Hansa 63 31
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38 == H 6 Vulkan 66 66
27 = H 6 Vulkan 63 07
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41 = H 6 Vulkan 64 81
42 = H 2 Elbe 4312
43 = H 2 Elbe 36 33
45 = H 2 Elbe 54 45
27 = H 6 Vulkan S0 67
9 = H 6 VYulkan 33 19
50 = H 3 Alster 12 11
51 = H 3 Alster 88 81
52 = H 6 Vulkan 64
53 = H 2 Elbe 653
55 = H 3 Alster 25 15
57 = H 3 Alster 89 47
gg = H 3 Alsten 64 29
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63 = H 2 Elbe 6983
64 = H 2 Elbe 96 24
65 = H 3 Alster 5045
66 = H Elbe 69 86
67 = Alster 4177
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08 14 = H 2 Elbe 88 54
16 = H 3 Alster 69 36
17 = H 3 Alster 51 37
18 = H 6 Vulkan 63 38
20 = H 5 Merkur 38 30
%% = H 4 Nordsee 8 21

= H 6 Vulkan 10 62
24 = H 6 Vulkan 22 44
26 = H 4 Nordsee 65 06
27 =H 2 Elbe 50
20 = H 3 Alster 47 19
30 = H 6 Vulkan 8 30
31 = H | Hansa
32 = H 6 VYulkan 76 14
34 = H 3 Alster 66
37 = H 3 Alster 28 67
38 = H 4 Nordsee 65 88
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68 = H 3 Alster 1

= H 3 Alster
;? = H | Hansa afl)
72 = H 3 Alster %772
73 = H 3 Alster ws
B=H erkur
N3 Araer
R
21 = H 1| Hansa 881
82 = H 3 Alster 89 82
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